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Class:9th

Test:Chemistry

Attempt ......... questions

1 The component of solution which is present in

large quantity is called:
b. Solvent
d. True Solution

a. Solute

c. Solubility
2 Tyndall effect is due to beam of light

a. Stops b. Non scattering

c. Passing d. Scattering

3 Concentrated solution of NaCl is called:
b. Brass
d. Plasma

a. Fluoride
c. Brine
4 Which thing is solution of gas in gas?
b. Mist
d. Air

a. Smoke
c. Fog
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dm’ of a 207 solution:
a. 18g b. 180g
c.36g d. 200¢g

® Molarity is the number of moles of solute
dissolved in:
a. 1 kg ofsolution  b. 100gm of splvent
c. 1dm’ of solvent  d. 1 dm’ ofsolution.
7 Alcohol in water is an example ofsolution:
a. Liquid in gas b. Liquid’in Liquid

c. Gas in solid d. gas in gas

® The minimum components of a solutions are:
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